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a)
b)
©)
d

s 0.0001g;

0°C~200C;

+25mm X< 65mm;

o

» 100C~105C  30min,

. m 0 o
1.000 0g~2.000 Og;

30min s

X €D

: X ’00;

a)
b)
c)
d

a)
b)
c)
d

my —— 283

m, — +8;

0.30%;
0.50%.,

v > ’

10g/L;
200C+17C;

? o

:25mL  50mL;
s 0.0001 g;

’

’gc

b4

’

3.000 0g~5.000 Og,
100°C~105C( ) ’

20CE1C

mzo

b4 o
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m 1,
v )]
" —
|4 01-9981;0 ................................................ )
.V — 20C L
Mo T 285
LT 20C »83
0.9982 —20C ,g/miL,
5.1.4.2 p
' T ’ 20C£1C ,
20min , ,
Mz o
5.1.5
P 3
p= m?;mo_fl m°><0.9982 ................................. (3
: p—20C ,g/mriL;
mz 20C &.
5.1.6
0.001g/mL;
0.002g/mL,
5.2
5.2.1
»
’ ' ’ d, 0.998 2g/
[
5.2.2
5.1.2,
5.2.3
a) ( D;
b) ]
5.2.4
5.2.4.1
@ ®, ®, ’
‘ ’ (3 ,
3, . , o
’ ©, : 40.000 5 ]
’ €)) . .
5.2.4.2 p
@ ,
s 14 ’ . .
998 2g/mL, o .
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5.2.5
d €Y P :
p :0_998 2 eeeescccscscccccssccccscscncscscncncscssnnee
H d—20°C o
5.2.6
0.001g/mL;
4 5
6
2
.
E/ L
1— ’2_ 53_ 94_ ’5_ H
6—  —  8— 19— ;10—
1
0.002g/mL,
.3
5.3.1
p o
5.3.2
5.1.2,
5.3.3
a) ;
b) ;
c) °
5.3.4
500mL s o
po
5.3.5
20C °
5.3.6
0.001 g/mL;
0.002 g/mL,
6
6.1
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®)
6.2
a)
b)

6.3

0.1g,
6.4

t My

m g
6.5

7.1

25C
7.2
a)
b)
c)
d
7.3
a)
b)
c)
7.4
7.4.1

7.4.2

7.5

0.315mm ’
100g, 0.1g;
0.315mm
100°C~150C(
b4 b
%) )
'85
’go
0.40%;
0.60%.
(Netnst)
b
pH 59.15mv
10g/L;
20C+3C,
Imin,
pI—I o

my

(
»pH

) my
150mm, 50mm,
’ 10g s
120 ’
0. 05g ° ’

E= Es0.059 151g[H" ], E= Es0.059 15pH,

( )

pH
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b)
c)
d

a)
b)

N -

-

7mm,,
8.4.7

8.5
8.6

Po —

0.2;
0.5,

10g/L;
20C 1C;
2) ;
, 0.0001 g.
’ ’ 0.5HN/I’I1,,
( 5mm~7mm), . 5mm~
s ’ ’ (
)9 b P o
(6)
0= F ¢ P ccccsccscccscscccccsscscccsccsscscencsssscnsscse (6)
,II]N/II];
,IIN/II];
P
0.01452P 1.679
F=0.7250 222958 1 0.045 34 — =20 e 7
+\/6’Z(p—m)+ R/r ™
2nR .M
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’g/InL;
,g/mL;



GB/T 8077—2000

r ,cm,
8.7
1 .OIIN/In;
1.5mN/m,
A_
G— 2;H—
L_
9
9.1
b
9.2
a) a+1);
b) (17g/L) .

s ,  0.1000mol/L

3 C— ;s D— 3 E—
3 (1 ;K—
;N ;0—  P—
35— 5T
2
b Ag+

17g (AN)S) ’

..

c) ( ¢ (NaC1)=0.1000mol/L)] . 10g

130°C~150C 2h,
(17g/L) .

10mL  0.100 Omol/L

5.8443¢,
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1;
¢9)

1L

),
]-L’ °

200mL,
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a4+, » ’
100 0 mol/L 10mL,
Vior s Ve
Ve (8
VeV — Vg eeeeeee
¢ Vo ——10mL0.100 0 mol/L mL;
Vi — 200mL , 4mL  (141) 10mL0.100 0 mol/L
»mL;
Vi —— 200mL , 4mL  (141) 20mL0.100 0 mol/L
»mL;
c €©))
V!
Vo
o ,mol/L;
¢ »mol/L;
V— smL,
9.3
a) 5
b) 3
c) 5
d 3
e) (25mL);
) (10mL)
9.4
9.4.1 0.500 0g~5.000 0g, »  200mL
9.4.2 10mL0. 100 Omol/L ,
s ( ) s
Vi .
9.4.3 ’ 10mL0.100 Omol/L
’ , 0.1mol/L
9.4.4 200mL 4mL a+v,
s ’ ’
10mL, ’
Voo Ve o
9.5
. ( N E/NVD

11

0.
............................ 6))
............................ (9
4mL (1+D,
0.1mL,
),
Vz °

10mLO. 100 Omol/L

k4

10mL0. 100 Omol/L
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, R (N2 E/AVZ )
v ¢[))
V=(V1_V01 )‘;‘(VZ_VOZ ) (10)
Vg 10mL0.100 Omol/L ,mL;
Vs 20mL0. 100 Omol/L ,mL;
Xa an
X o= %13(5)(;45 X100~ eeeesecscecccscercccscnsnanes an
: Xg— ZE
m— 38,
1.565 ’ XC,J,C,2 ’ 12)
XCaC]2:1'565X D a2
XCaC]z— s
9.6
0.05%;
0.08%,
10
10.1
10.1.1
10.1.2
a) a+1);
b) (50g/L) ;
) (100g/1);
i) (1g/L),
10.1.3
a) 900°C ;
b) R 0.0001g;
c) 5
) -18mL~30mL;
e) :400mL;
) H
8) s 0
10.1.4
10.1.4.1 0.5g, 400mL ’ 200mL s 50mL,
’ s > 200mL s (1+1)
’ 5 ~10 , 10mL,
15min, ’ s 50C~60C 2h~4h 8h,
10.1.4.2 ’ 70C ’ s

12
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10.1.4.3
10.1.4.4 800°C

000 5g) .
10.1.5

: XNaZS)

4
m,

0.6086——
10.1.6

0.50%;
0.80%.

10.2

10.2.1

10.1.1,
10.2.2

10.1.2
10.2.3

10.1.3,
10.2.4
10.2.4.1

10.2.4.2
10.2.4.3
300mL ’
10mL,
8h,
10.2.4.4
10.2.5
10.1.5,
10.2.6
10.1.6,

11

4

50°C~60C

)0

30min,

(my— my) X 0.6086

(  30min),

X na,50, =

’ 9 053
»83
’8;
»E3

717—OH

0.2000g~0.5000 g,

’

1) 5
15min, .

10.1.4.2~10.1.4.4 °

13

m

6g717—OH

60°C~65C, 10min,

50°C~60C, 2h~4h

Y100  eveesserccccessencnnannees

100mL
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11.1

11.2
a)

100mL,
b)

c)

d
e)
)
11.3
a)
b)
c)
d
e)
11.4
11.4.1

11.4.2

11.4.3

11.4.4
11.5

11.6

(200 g/H]L): [(CHgan)zf)b‘ 3H20:| 20g, Y
~ s (K2C204 d Hzo) 3g, (Nazl_lm4 d 12H20)7g
100 mL,
A:  34.6g (CuSO4-5H,0)  400mL , .
1000mL,
B s ( C4]—I406KN3‘ 4H20) 173g . 50g Py 1000111[10
2.75g~2.76g 1L s ( 1.19)1mL, o
(10g/L): 1g s s 100 mL,
:H0mL;
:100mL;
:5mL, 10mL;
:25mL;
:100mL,
2.5g( 2.5 Do 100mL
10mL  50mL .
50mL 7 .5mL ’ ’ 10mL
5mL A B 100mL ’ 20 mL,
IOmL, * .’ b
2 ZII]jn’ b 2 b
* V 0 o
X a4)
Vo—V .
X _ W DXAZD o eereesasssasasenes a4
m
- ’ % H
»mL
y— ,mL;
m— [3:9
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11.6.1
11.6.2

11.6.3
11.7

12

12.1

12.2
a)
b)
c)
d
e)
£
g)
h)

12.3

12.3.1

12.3.2
12.3.3

12.4

12.5

13

13.1

13.2
a)
b)

0.50% ;
1.20%,
b
36mm,
+400mm X 400mm X 5mm;
:SOOII]H];
100g, 0.1g;
1000g, 1g.
b
300g, ’
s 30s,
5mm;
10mm,
b
JC/T 681

AY AY

60mm,

15

0.5mL

60mm,

GB/T 2419

.
14
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c)

d

e)
13.3

a)

b) ISO

c)
13.4
13.4.1
13.4.1.1

13.4.1.2

13.4.1.3

20mm,

13.4.1.4

13.4.1.5

13.4.1.6

13.4.2

5mm

13.4.3

13.5
13.5.1

13.5.2
13.5.3
13.6

okg,

&),

100g,

a5

0.1g;

180mm=-5mm
180 mm—+5mm

1350g+5g ’

: ’ 450g,
b 308 . 3OS
15s

+1s o

90s,

180mm--5mm,, 180mm-+-5mm

, 13.4.1 180mm+-

M, , , 13.4.1 ,

28

o

1.0%;
1.5%.
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14
14.1
80C ’ . s v e ( ),
s o
14.2
a) a+1),
b) A+,
c) (100 g/L),
d) . : 130°C~150°C Zh (KC1 00.7920 g
(NaCl 0.9430g, , ’ 1000mL ’ ’
, o 0.5mg,
e) (2g/L o
) 0
14.3
14.3.1
100mL 0.00;1.00;2.00;4.00;8.00;12.00mL . (
N 0.00;0.50;1.00;2.00;4.00;6.00 mg), s R
14.3.2 150mL » 80C 30ml,
, 5mim , N | s a+1),
; 10mL ’ s 10min, ’ ’
’ s a+1n > ’ s
o 1,
1
N 13:4 »mL ”
1.00 0.2 100 1
1.00~5.00 0.1 250 2.5
5.00~10.00 0.05 250 500 2.5 5.0
10.00 0.05 500 1000 5.0 10.0
14.4
14.4.1
Xgo  (16)
Xxo :% X100  eesecsecsccscancsescascasanssncennneas (16)
Xxo — s %05
c;, — 100mL ,INg;
[ — H
m 280
XNaZO an
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C2e+ n

X a0 = X 1000 X100  cereeeeremseccrcrnrceccenraranenenes
: XN"‘zo - ’00;
Cy, — 100mL ,g;
14.4.2 X (18)
X =0.658X Xy X Xpgp srreesereesesssesersnscnsnscaes
X 73
14.5
2,
2
% % %
1.00 0.10 0.15
1.00~5.00 0.20 0.30
5.00~10.00 0.30 0.50
10.00 0.50 0.80
1 : s °
2 , GB/T 176—19%  3.11.2,
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A
( )
Al
10mL0.100 Omol/L 20mL0.100 Omol/L
Vo E|AE/AV| 2 E/AV? Ve E|AE/AV| 2 E/AV?
mL mvV mV/mL | (mV/mL)? mL mV mV/mL | (mV/mL?)
10.30 242 20.20 240 110
10.40 253 110 300 20.30 251 200
130
10.50 267 140 —100 20.40 264 o
120 100
10.60 280 130 20.50 276
_ 300
Va —10.40+0.10Xm—]0 .48(mL)
Vg =20.30+0.1ox%)=20.37(nm)
0 s, L0000 101 3 1
A2 0.769 6g, 200mL , 4mL a+u1,
10mL0. 100 Omol /L 20mL0. 100 Omol /L
Vi E|AE/AV| N E/AV? Ve E|AE/AV| N E/AV?
mL mV | mV/mL | (mV/mL)? mL mV [ mV/mL | (mV/mL)?
13.20 244 23.20 241 1o
13.30 256 120 100 23.30 252 100
120
13.40 269 130 —200 23.40 264 100
110
13.50 280 110 23.50 275
V. o— 100
¥V —13.30+0.1Xm—13.33(m[)
v, =23.30+0.1x%)=23.35(m)
% =(13'33'10'48);_(23'35'20'37)=2.92(mL)
Cl_==35'45><0'101 1><2'92><100==1-36(96)

0.7696 <1000
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